Physiology Quiz 1
1) [bookmark: question_blank]COMPLETE THIS SENTENCE by choosing the BEST answer:   Similar types of cells come together to form ______________________.
a) tissues
b) molecules
c) organ systems
d) atoms
2) Different tissue types come together to form ______________________.
a) Cells
b) Molecules
c) Organs
d) Organ Systems
3) COMPLETE THIS SENTENCE by choosing the BEST answer:   Different organs will work together in the body to provide a specific function in what is called ______________________ . 
a) collective tissues
b) an organ system
c) an organism
d) an organ party
4) Which of the following is considered to be "the fundamental unit of MATTER"?
a) cells
b) subatomic particles
c) the atomic nucleus
d) atoms
5) Which of the following is considered to be "the fundamental unit of LIFE"?
a) Cells
b) Atoms
c) Molecules
d) Organisms
6) The nucleus of an atom contains which of the following subatomic particles?
a) protons
b) hydrogen
c) electrons
d) carbon
7) 96% of all living organisms contain only 4 elements (atoms). Which of the following is NOT one of these 4 atoms?
a) nitrogen
b) carbon
c) oxygen
d) hydrogen
e) calcium
f) proteins
8) 4 molecules or macromolecules are essential to all living organisms.  Which of the following is NOT one of these 4 molecules?
a) hydrocarbons
b) carbohydrates
c) nucleic acids
d) lipids
e) proteins
9) Bonding between atoms occurs through interactions with which of the following?
a) electrons in the outermost part of the atoms
b) electrons located in the atomic nucleus
c) protons located in the outermost portion of the atom
d) protons located in the atomic nucleus
10) [bookmark: _GoBack]Which of the following subatomic particles has NO electrical charge?
a) protons
b) electrons
c) neutrons
d) gluons

